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I can solve perimeter word problems by setting up and solving equations.  

Perimeter:  
	The length of a rectangle is 12 cm more than the width. The perimeter is 44 cm. Find the length and the width.

	The perimeter of a rectangle is 104m. The length is 7m more than twice the width. What are the dimensions of the rectangle?

	Side a of a triangle is 4 cm longer than side b. Side c is twice as long as side b. What is the length of each side of the triangle if its perimeter is 28 cm?

	The length of a rectangle is 5 inches less than three times its width. 
The perimeter is 86 inches. Find the length and width.

	The length of a rectangle is 5 more than the width. What are the dimensions of the rectangle if the perimeter is 34?

	The length of a rectangle is 4 times its width. The perimeter of the rectangle is 90 feet. Find the length & width of the rectangle.

	If the perimeter of an equilateral triangle is 27 inches, how large is each side of the triangle?

	The length of a rectangle is 4 inches more than its width. The perimeter is 96 inches. Find the length & width.


Complete problems 1-4 on page 107 in your text book.  

